SHEET E %] 1 2 3 4 5 6 7 8 9

| < | || | || | || <o | || | || | || < | || | || | || |
| au --> db --> aob,au | trim | | (dbin) --> *e --> au | np | | (dbin) --> abe --> at | np | | edb --> irc | trin | | alu --> *e --> au | np | | (dbin) --> ab* --> alu | np | | au --> db --> aob,au | trim | | (dbin) --> *e --> au | np | | (dbin) --> ab* --> alu | np | ] | np
| (dbin) --> ab --> ath |-------- | | (rya) --> * --> au [-------- | ] |-------- | | (rxa) --> db --> au [-------- | | (rya) --> * --> au [-------- | | @ --> alu |-------- | | (dbin) --> ab --> ath [-------- | | (rya) --> * --> au |-------- | | @ --> alu |-------- | | alu --> *e --> au [--------
| edb --> dbin | db | ] | db | ] | db | | (rya) --> ab --> aob,at | db | ] | bc | ] | db | | edb --> dbin | db | ] | db | ] | db | | (rya) --> * --> au | bc
| +2 -> au [ || [ | [ | ] -4 5> au [ || [ || [ | ]2 > au [ || [ || [ | [am—
A | x | | x || | x || | x | | x || | 5n | | x || | x || | 5n | | x
| — || [E— | [— || [— || [e— || [— | [— || [— || [— | [R—
I | spdy I I | sppy I I | spdy I I | spry | I I } } | sppy I I I dxdy I I | dxpy I I I dxpy | I I
| 1f2 | jsali | ablwil | | 3ab | jsrdl | gsrd1 | | 3289 | jsawe |  jsawe | | 290 |  jsral |  jsra1 | | 2f9 |  jsrxi | gsrx1 | | 1f3 |  jsrxe | aixwe | | 1fe | jmalil | ablwi1 | | 3af |  jmpdil | gsrd1 | | 1f7 |  jmpxe | aixwe | | 2fd |  jmpxi |  jsrx1
\mmmmmm e [ \mmmmmm e - [ \mmmmmmm - [/ \mmmmmm e - [ \mmmmmm e [ \mmmmmm e - [/ \mmmmmm e - /[ \mmmmmmm - [/ \mmmmmm e - [ \mmmmmm e
| | | | | | | | | |
v v v | | | v | | |
v [---> Jsrx3 if irc[11]=1 v v v |---> Jmpx3 if irc[11]=1
| < | | ] < [ | ] < | | jsaw2 | jsrxl | < | | bbci3 jmpx1 |
| (ath) --> abh --> aob | trin | | au --> ab --> aob,at | irin | | (at) --> ab --> aob | trin | [---> Jsrx2 if irc[11]=0 | (ath) --> dbh --> aob,au | trin | |---> Jmpx2 if irc[11]=e
| au --> pc |-------- | | (pc) --> db --> au [-------- | | au --> pc |-------- | | (dbin) --> dbl --> aob,au |-------- |
| (dbin) --> abl --> aob,atl| db | | +2 --> au | db | | edb --> irc | db | | edb --> irc | db |
| edb --> irc |-------- | [-------- | | (rxa) --> db --> au [-------- | | +2 --> au [-------- |
B | (rxa) --> db --> au | x | ] | x | | -4 --> au | x | | | x |
| -4 > au [R— | [R— | [Ra— | | [RE— |
| | | | || | | | | |
| | | | || | | | | |
| ce | jsal2 |  jsal2 | | 291 |  jsrd2 |  jsrd2 | | 279 |  jsawl | jsawl | | 218 |  jmal2 | jmal2z |
\=mmmmmmmmmmm e /[ \mmmmmmmmmmme e /o \mmmmmmmm - / \=mmmmmmmmm e /
| | | |
| v v |
v v
jsaw2 | > || S | | || | || | | b | | || | | |
| au --> pc | frin | | au --> db --> aob,au,rx | twop | | au --> * --> au | np | | au --> * --> au | np | | (dbin) --> abe --> at | np | | ftu --> abe --> au | np | | au --> * --> au | np | | au --> * --> au | np
| edb --> irc [-------- | | (pch) --> ab --> dob |-------- | | (rx1l) --> *e --> au [-------- | ] (rx) --> * --> au [-------- || |-------- | | (pc) --> db --> au |-------- | | (rx1) --> *e --> au |-------- | | (rx) --> * --> au [--------
| (rxa) --> db --> au | db | | +2 --> au | db | | db [ | db | | db | | (rxd) --> abd --> alu | db | | db | | db
| -4 5> au [ | [ | [ || (s || [ | | -1 -5 alu [ || [ || [
c | | x || | x | | x || | x || | x | | | 2n || | x | | x
| [R— | [Ra— || [R— || [R— || [R— | | [R— || [R— || [RE—
| | || | || | || | || | dxdy | | | rxdy | | | || |
| | || | || | | | || | | | | || | | |
| 321 | jsrd3 |  jsrd3 | | 27a |  jsaw2 | jsaw2 | | 211 | jsrx2 | jsex2 | | 2d1 |  jsrx3 | jsex3 | | 3ad | jmawl |  jsawe | | 159 | dentl |  dent1 | | 215 | jmpx2 | jsex2 | | 2d5 |  jmpx3 |  jsrx3
\mmmmmmm e [ \mmmmmmmme - /[ \mmmmmmmmmme - /[ \mmmmmmmm - /[ \mmmmmmmmm - / \mmmmmmmmm e /[ \mmmmmmmmmm - [/ \mmmmmmmmm e
| | | | | | | |
| v | | | v | |
v v v v v v
jsaw2 | <> | | jsrd2 jsrd2 jmal2 | <> | | ] < | | bbci3 bbci3
| (at) --> db --> au | twop | | | trop | | alu --> * --> rxdl | irin |
| au --> aob [-------- | | [-------- | | au --> db --> aob,au [-------- |
| (pcl) --> ab --> dob | dbi | | au --> pc | db | | +2 --> au | bci |
| +2 --> au |-------- | | edb --> dbin [-------- | | |-------- |
D | | x | | (ry) --> db --> aob,at,au | x | ] | x |
| [— | | 42 > au [E— || [— |
I I I I reset pren | spry I I I
| 27b |  jsaw3 | jsaw3 | | 107 | unlkl |  ldmr2 | | cc | dent2 |  dent2 |
= m oo / \ = m e e /e e /
| b | unlk2 |---> dcnt3 if z=1
v v |---> dcnt4 if z=0
| | | | | | | || | || o | o | | < |
| ftu --> abe --> au | np | | (dbin) --> *e --> au | np [ | (pc) --> ab --> alu,at | np | | au --> ab --> alu,at | np | | edb --> irc | trin | | au --> db --> aob,au | trop | | au --> db --> aob,au | irin
| (pc) --> db --> au |-------- | | (pc) --> * --> au [-------- | | (rxa) --> db --> au [-------- | | (rxa) --> db --> au [-------- | | (rya) --> db --> aob,au |-------- | | (dbin) --> ab --> ath [-------- | | (rya) --> ab --> alu,at |[--------
| (rxdl) --> abd --> alu | bc | ] | bc [ | -1 --> alu | db | ] -1 --> alu | db | | +2 --> au | db | | edb --> dbin | dbi | | -1 --> alu | db
| -1 --> alu |-------- || [-------- [ | -4 --> au [-------- | | -4 --> au [-------- | | [-------- | | +2 --> au [-------- | | +2 --> au [--------
E | | 2n || | x | | | 1n || | 1n || | x || | x | | | 1n
| [— | [R— | | [ || [ || [Ra— || [Re— | | [
: cal - : sy = = O :
| 15d | bbcil |  dentl | | c4 | bbcwl |  bbcwl | | 171 | bsriil |  bsril | | 172 | bsrwl |  bsrwl | | cd | jmpal |  jmpal | | 1fe | unlk2 | ablwi | | 296 | link1 |  link1
e e T [/ \mmmmmmmm e / \mmmmmmmmmm e [/ \mmmmmmmmm e [ \mmmmmmmmm - [ \mmmmmmmmmm - / \mmmmmmmm e
| | | | | | |
| | v v | v v
|---> bbci2 if cc false |---> bbci3 if cc true v
| | | <o | || <o | | b | < | || > | || > | || > |
|---> bbci3 if cc true |---> bbcw3 if cc false | (ath) --> ab --> dob | twop | | (ath) --> ab --> dob | twop | | au --> ab --> rx | irix | | edb --> dbin,irc | frin | | alu --> * --> rxl | frin | | au --> pc | frin
| au --> db --> aob,au,rx  |[-------- | | au --> db --> aob,au,rx |-------- | | (pc) --> db --> aob,au [-------- | | (ir) --> ird |-------- | | edb --> dbin,irc |-------- | | edb --> irc [--------
| +2 --> au | db | | +2 --> au | db | | +2 --> au | db | | (pc) --> db --> au | db | ] | db | | (rxa) --> db --> au | db
| [ | [ | | [ | ]2 o> au [ || [ | ] -4 -5 au [
F | | x | | x | | | x || | x || | x | | x
| [ || [— | | [— | [— | [— || [R—
| | || | | | | || | || | || |
| | || | | | | || | || | || |
| 121 | bsri2 |  bsri2 | | 125 |  bsrw2 |  bsri2 | | 8 | unlk3 |  unlk3 | | 327 | dcnt3 |  rcaw2 | | 3e7 | dcnt4 |  rorl2 | | 325 |  1ink2 |  jsrd3
\mmmmmmm s [ \mmmmmmmm e / \mmmmmm e / \mmmmmmm - [ \mmmmmm - [ \mmmmmm e -
| | | | | |
v v v v | v
v
| | | o || | || <o | o || | | > || < | | b | o
| (ir) --> ird | np | | au --> db --> aob,au | trin | | (ir) --> ird | np | | alu --> dob | twop | | alu --> dob | twop | | (dbin) --> ab* --> alu | np | | (ath) --> abh --> ryh | frix | | au --> db --> aob,au,pc | irix | | (ath) --> ab --> dob | twop
| (pc) --> db --> au |-------- | | edb --> dbin,irc [-------- | | (pc) --> db --> au |-------- | | au --> aob [-------- | | au --> aob [-------- | | @ --> alu |-------- | | (dbin) --> abl --> ryh [-------- | | +2 --> au |-------- | | au --> db --> aob,au,rya |[--------
| +2 --> au | db | | +2 --> au | db | | +2 --> au | db | | ftu --> *e --> au | db | | (dbin) --> *e --> au | db | ] | db | | edb --> dbin,irc | a1 | ] | db | | +2 --> au | dbi
| [Rasm | (et | (s |1 (pe) > * > au [t | 1 (pe) =-> * -> au [t || (s |1 (i) o> ird [Ra— || [t | | [
G | | 2n | | x || | 2n | | x || | x || | 5n | | x || | | | | x
| [— || [R— || [— || [R— || [Ra— | [ || [RE— | [— | | [R—
| | | | || | || | || | || | sppy | | | || | | | |
| | | | || | || | | | || | | || | | | |
| 60 | bbci2 |  rcald | | ed | bbci3 | bbciz | | a® | bbcw3 |  rcald | | 32d | bsri3 |  bsri3 | | 32e | bsrw3 |  bsrw3 | | 1ff | peaxo | aixwe | | 8e | unlk4 |  unlk4a | | 217 | dcnts | b | | 8f | 1ink3 |  1ink3
\=mmmmmmmmmm e [/ \mmmmmmmmmmme e [ \mmmmmmmmem - [ \mmmmmmmmmme e [/ \mmmmmmmmmmm e [ \mmmmmmmmemme e [ \mmmmmmmmmme - [ \mmmmmmmmm e / \=mmmmmmmme e
| | | | | | | |
| | | | | v | v
v v v v v v
b b malw3 malw3 malw3 | < | | mmrw3 | < | | ] <>
| | irin | | au --> db --> aob,au | irix | | alu --> dob | twop
| alu --> *e --> au |-------- | | (rxdl) --> dbd --> alu,aleb-------- | | au --> aob [--------
| au --> aob | bc | | (rydl) --> ab* --> alu | dbi | | (dbin) --> *e --> au | db
| (rya) --> * --> au |-------- | | -2 --> au |-------- | | (rya) --> * --> au [--------
H | | x | | | 21 || | x
| [R— | | [Ra— || [R—
| | | | | rxuk | | |
| | | | | | |
| 12e | peaxl | aixwl | | 176 | chkrl | chkrl | | 2b2 | link4 | link4
\mmmmmmmm e / \mmmmmmmmm e [/ \mmmmmmmm e
|---> peax2 if irc[11]=0 | chkr2 | mmiw2
[---> peax3 if irc[11]=1 v v
| <o | || o | || < | || < | || | | | < | || > |
| au --> db --> aob,au | trim | | au --> db --> aob,au | trin | | au --> aob,pc | irix | | au --> aob | irin | | (dbin) --> ab* --> alu | np | | au --> db --> aob,au | irix | | (alub) --> alu | frix |
| (dbin) --> ab --> rxh |-------- | | (dbin) --> abe --> rx [-------- | | (dbin) --> ab --> ftu [-------- | | (dbin) --> *e --> au [-------- | | @ --> alu [-------- | | (dbin) --> ab* --> alu [-------- | | au --> db --> au,pc |-------- |
| edb --> dbin | db | | edb --> irc | db | | (rya) --> db --> at | dbi | | (rya) --> * --> au | db | ] | db | | (rxdl) --> dbd --> alu,alu| dbi | | edb --> dbin,irc | bc |
| +2 -> au (s | ]2 > au [ || [ || [t || [ | | -2 --> au [ | ] -1 --> alu [ |
I| | x | | x || | x || | x || | 5n | | | 21 | | +2 --> au | 11
| [E— | [— | [E— || [— || [— | | [— || [— |
: =l = | = = =7 : = -
| 3e4 | laall |  o#l1 | ] 292 | laawl |  laawl | | a3 | leaal | leaal | | 380 | leadl |  leadi1 | | 1fb | leaxe |  aixwe | | 175 |  chkml | chkmi | | 177 |  chkr2 |  chkr2 |
\mmmm s e [ \mmmmmm e - /[ \mmmmm - [ \mmmmmm e - [ \m e / \mmmm oo /o \mmmmmm - /
| | | | | | |
v | v v v | |
v v |---> chkr3 if n /v
| o | b | > || > || < | || > | > | | chkr2 |
| au --> db --> aob,au,pc | trin | | (at) --> ab --> rx | frix | | au --> ab --> rx | frin | | | irin | | au --> * --> au | frin | | au --> * --> au | frix | |---> trapl if /n+v
| (dbin) --> ab --> rxl |-------- | | edb --> dbin,irc |-------- | | edb --> irc [-------- | | alu --> *e --> au [-------- | | edb --> dbin,irc |-------- | | edb --> dbin,irc [-------- |
| edb --> dbin,irc | db | | (ir) --> ird | a1 | | (pc) --> db --> au | db | | au --> aob | bc | | (rx1) --> *e -> au | db | | (rx) --> * --> au | db |
| +2 --> au |-------- | | (pc) --> db --> au |-------- | | +4 --> au [-------- | | (rya) --> * --> au [-------- | | reset pren |-------- | | reset pren [-------- |
J | | x | | +2 --> au | x | | x | | x || | x | | x |
| [Ra— | | [Ra— || [R— || [Ra— || [Ra— || [Re— |
| | | | | | | || | || | | | |
| | | | | || | | | || | | | |
| 3ae | laal2 |  o#wl | [ 64 | leaa2 | leaa2 | | 294 |  lead2 |  lead2 | | 12a | leaxl |  aixwl | | 138 | peax2 |  aixw2 | | 1f8 | peax3 | aixws |
\mmmmmmmmmmm e / \mmmmmmmmmmm e /[ \mmmmmmmmmmem e [/ \mmmmmmmmmmm e [ \mmmmmmmmmm e /[ \mmmmmmmmmm - /
| | | | |
| | | | v
v v |---> 1leax2 if irc[11]=0 v
b b | peax4 | | | | | | o
|---> 1leax3 if irc[11]=1 | au --> ab --> alu,at | np | | | np | | (dbin) --> ab* --> alu | trop
| (pc) --> db --> au [-------- | | 'idle wait' |-------- | | edb --> dbin [--------
| -1 --> alu | dbi | | | bc | | (rxa) --> db --> aob,au | db
| +4 --> au [-------- | | |-------- | | -1 --> alu [--------
K | | 1n | | | x | | +1,+2 --> au | 1n
| [o— | | st || [—
| | | | | || | spdy
| | | | | ||
| 366 | peax4 |  peax4 | | 1106 | chkr3 |  dvumb | | 3cb | rtri | cmmw3
\mmmmmmm e / \mmmmmm s [ \mmmmmmmme e -
| | |
v | v
|---> chkr4 if /n
| <o | o || o | <> || > || < | | < | | | <o
| au --> db --> aob,au | trim | | au --> aob,pc | trin | | au --> aob,pc | trix | | au --> db --> aob,au | trin | | au --> * --> au | frin | | au --> * --> au | frix | | au --> aob,pc | trix | |---> trapl if n | au --> db --> aob,au,pc | trop
| (dbin) --> ab --> ath |-------- | | (dbin) --> abe --> at [-------- | | edb --> dbin,irc |-------- | | (dbin) --> abd --> alu [-------- | | edb --> dbin,irc [-------- | | edb --> dbin,irc |-------- | | edb --> dbin,irc [-------- | | (dbin) --> ab --> ftu [--------
| edb --> dbin | db | | edb --> irc | db | | (rxa) --> db --> au | dbi | | edb --> dbin,irc | db | | (rx1) --> *e --> au | db | | (rx) --> * --> au | db | | (rxa) --> db --> au | db | | edb --> dbin,irc | db
| +2 --> au |-------- | | (rxa) --> db --> au [-------- | | (rya) --> ab --> alu,at |-------- | | (rya) --> ab --> at [-------- | | reset pren [-------- | | reset pren [-------- | | -4 --> au [-------- | | +2 --> au [--------
L | | x | | -4 --> au | x | | -1 --> alu | 1n | | -1 --> alu | 1n | ] | x | | | x | | | x | | | x
| [Ra— || [ | ] -4 > au [Ra— | ] 2 > au [ || [R— | [R— || [ | | [
| | spdy | | | spdy | | | spry | | | sppy | | | || | | | | | |
| | || | | | || | | | | | |
| 1fa | paall | ablwl | | e6 | paawl |  paawl | | 27d | peaal | peaal | | 27e | peadl |  peadi | | 134 | 1leax2 | aixw2 | | 1f4 | leax3 |  aixwd | | 154 |  peax5 | peaxs | | 139 | rtr2 |  malw3
\=mmmmmmmmmm e [/ \mmmmmmmm e / \mmmmmmmmm e [ \mmmmmmmmmmm - [/ \mmmmmmmmmmm e [ \mmmmmmmmemme - /o \mmmmmmmmmm e / \=mmmmmmmmm e
| paal2 | paaw2 | peaxé | pead2 | leax4 | leax4 | peaxé | rtr3
v v v v v v v v
| o | o | | < | | | | | o || o || | | o
| au --> aob,pc | trin | | (atk) --> ab --> dob | twop | | alu --> *e --> au | irix | | au --> ab --> rx | np | | (ath) --> ab --> dob | twop | | (dbin) --> ab* --> alu | trop | | au --> db --> au,pc | np | | au --> db --> aob,au | irop
| (dbin) --> ab --> atl |-------- | | au --> db --> aob,au,rx |-------- | | (at) --> * --> au [-------- | | (pc) --> db --> au |-------- | | au --> db --> aob,au,rx |-------- | | edb --> dbin |-------- | | (ir) --> ird |-------- | | (dbin) --> abe --> at [--------
| edb --> irc | db | | +2 --> au | db | | au --> aob,pc | dbi | | +4 --> au | db | | +2 --> au | db | | (rxa) --> db --> aob,au | db | | +2 --> au | a1 | | +2 --> au | db
| (rxa) > db > au st || [ | | [ | | [t || [ | ] -1 -5 alu | ---mmeee || | --=mne e || | ---mneee
M| -4 -->au | x || | x | | | x | | | x || | x | | +1,+2 --> au | 1n || | x || | x
| [R— || [R— | | [R— | | [R— || [R— || [— || [R— || [R—
| | | | | | | | | | | | || | spdy | | | | |
| | | | | | | | | | | | || || | | |
| af | paal2 |  paal2 | | 129 | paaw2 |  bsri2 | | 295 |  pead2 |  pead2 | | 365 | leax4 |  leax4a | | 12d | peaxé |  bsri2 | | 3cf | rtsi | comw3 | | 150 | chkr4 | chkra | | 3e5 | rtr3 |  smaw2
R i Tl [/ \mmmmmmmm e / \mmmmmmmmm e / \mmmmmmmmm e [/ \mmmmmmmm - [ \mmmmmmmmm - [ \mmmmmmmmmm - [/ \mmmmmmmm e
| | | | | | |
| | v | | | v
v v v v
paaw2 mawl3 | > | | b morw2 | <> | | | > [
| au --> ab --> alu,at | frix | | au --> db --> aob,au | trop | | au --> * --> rx | frop
| edb --> dbin,irc [-------- | | (dbin) --> ab --> ath [-------- | | (dbin) --> * --> ath [--------
| (rxa) --> db --> au | db | | edb --> dbin | db | | edb --> dbin | db
| -1 --> alu [-------- | | +2 --> au |-------- | | ftu --> psw [--------
N | -4 --> au | 1n | | | x | | | x
| [ | | [— | | [e—
| | | | | | | |
| | | | | | | |
| 364 | pead3 | pead3d | | 234 | rts2 |  ablwl | | 40 | rtr4 | rtra
\ = mm oo / \mmmm e / \mmmm s e
| | |
| | |
v v v
peax6 rts3 jmal2
0
| < | || o |
| (ath) --> db --> ryh | irix | | (ath) --> dbh --> aob,au | trix |
| au --> aob,pc [-------- | | au --> ab --> rx |-------- |
| (rx) --> ab --> dcr | dbi | | (dbin) --> dbl --> aob,au | db |
| [-------- | | edb --> irc |-------- |
P | | x | | +2 --> au | x |
| [R— | [Ra— |
| | rxdt | | | |
| | || | |
| 34b | btsi1 | btsi1 | | 23f | rts3 | rts3 |
\mmmmmm e [ \mmmmmmm - /
| btsr2 | b
v v
Q
R



